
X
SA

G
A

RD
A

D
M

IN
Y

1B
56

B8X
SA

G
A

RD
A

D
M

IN
Y

1B
56

B8X
SA

G
A

RD
A

D
M

IN
Y

1B
56

B8X
SA

G
A

RD
A

D
M

IN
Y

1B
56

B8X
SA

G
A

RD
A

D
M

IN
Y

1B
56

B8X
SA

G
A

RD
A

D
M

IN
Y

1B
56

B8X
SA

G
A

RD
A

D
M

IN
Y

1B
56

B8X
SA

G
A

RD
A

D
M

IN
Y

1B
56

B8

X
SA

G
A

RD
A

D
M

IN
Y

1B
56

B8X
SA

G
A

RD
A

D
M

IN
Y

1B
56

B8X
SA

G
A

RD
A

D
M

IN
Y

1B
56

B8X
SA

G
A

RD
A

D
M

IN
Y

1B
56

B8X
SA

G
A

RD
A

D
M

IN
Y

1B
56

B8X
SA

G
A

RD
A

D
M

IN
Y

1B
56

B8X
SA

G
A

RD
A

D
M

IN
Y

1B
56

B8X
SA

G
A

RD
A

D
M

IN
Y

1B
56

B8

X
SA

G
A

RD
A

D
M

IN
Y

1B
56

B8X
SA

G
A

RD
A

D
M

IN
Y

1B
56

B8X
SA

G
A

RD
A

D
M

IN
Y

1B
56

B8X
SA

G
A

RD
A

D
M

IN
Y

1B
56

B8X
SA

G
A

RD
A

D
M

IN
Y

1B
56

B8X
SA

G
A

RD
A

D
M

IN
Y

1B
56

B8X
SA

G
A

RD
A

D
M

IN
Y

1B
56

B8X
SA

G
A

RD
A

D
M

IN
Y

1B
56

B8

X
SA

G
A

RD
A

D
M

IN
Y

1B
56

B8X
SA

G
A

RD
A

D
M

IN
Y

1B
56

B8X
SA

G
A

RD
A

D
M

IN
Y

1B
56

B8X
SA

G
A

RD
A

D
M

IN
Y

1B
56

B8X
SA

G
A

RD
A

D
M

IN
Y

1B
56

B8X
SA

G
A

RD
A

D
M

IN
Y

1B
56

B8X
SA

G
A

RD
A

D
M

IN
Y

1B
56

B8X
SA

G
A

RD
A

D
M

IN
Y

1B
56

B8

X
SA

G
A

RD
A

D
M

IN
Y

1B
56

B8X
SA

G
A

RD
A

D
M

IN
Y

1B
56

B8X
SA

G
A

RD
A

D
M

IN
Y

1B
56

B8X
SA

G
A

RD
A

D
M

IN
Y

1B
56

B8X
SA

G
A

RD
A

D
M

IN
Y

1B
56

B8X
SA

G
A

RD
A

D
M

IN
Y

1B
56

B8X
SA

G
A

RD
A

D
M

IN
Y

1B
56

B8X
SA

G
A

RD
A

D
M

IN
Y

1B
56

B8

X
SA

G
A

RD
A

D
M

IN
Y

1B
56

B8X
SA

G
A

RD
A

D
M

IN
Y

1B
56

B8X
SA

G
A

RD
A

D
M

IN
Y

1B
56

B8X
SA

G
A

RD
A

D
M

IN
Y

1B
56

B8X
SA

G
A

RD
A

D
M

IN
Y

1B
56

B8X
SA

G
A

RD
A

D
M

IN
Y

1B
56

B8X
SA

G
A

RD
A

D
M

IN
Y

1B
56

B8X
SA

G
A

RD
A

D
M

IN
Y

1B
56

B8

X
SA

G
A

RD
A

D
M

IN
Y

1B
56

B8X
SA

G
A

RD
A

D
M

IN
Y

1B
56

B8X
SA

G
A

RD
A

D
M

IN
Y

1B
56

B8X
SA

G
A

RD
A

D
M

IN
Y

1B
56

B8X
SA

G
A

RD
A

D
M

IN
Y

1B
56

B8X
SA

G
A

RD
A

D
M

IN
Y

1B
56

B8X
SA

G
A

RD
A

D
M

IN
Y

1B
56

B8X
SA

G
A

RD
A

D
M

IN
Y

1B
56

B8

X
SA

G
A

RD
A

D
M

IN
Y

1B
56

B8X
SA

G
A

RD
A

D
M

IN
Y

1B
56

B8X
SA

G
A

RD
A

D
M

IN
Y

1B
56

B8X
SA

G
A

RD
A

D
M

IN
Y

1B
56

B8X
SA

G
A

RD
A

D
M

IN
Y

1B
56

B8X
SA

G
A

RD
A

D
M

IN
Y

1B
56

B8X
SA

G
A

RD
A

D
M

IN
Y

1B
56

B8X
SA

G
A

RD
A

D
M

IN
Y

1B
56

B8

X
SA

G
A

RD
A

D
M

IN
Y

1B
56

B8X
SA

G
A

RD
A

D
M

IN
Y

1B
56

B8X
SA

G
A

RD
A

D
M

IN
Y

1B
56

B8X
SA

G
A

RD
A

D
M

IN
Y

1B
56

B8X
SA

G
A

RD
A

D
M

IN
Y

1B
56

B8X
SA

G
A

RD
A

D
M

IN
Y

1B
56

B8X
SA

G
A

RD
A

D
M

IN
Y

1B
56

B8X
SA

G
A

RD
A

D
M

IN
Y

1B
56

B8

77438 Page 1 of 6 
 

 

                                                                      

 

 

[Time: 3 Hours]           [Marks: 100] 

 

N.B.:  1. All the questions are compulsory. 

 2. Figures to the right indicate full marks. 

 

 
 

Q1 A Choose the correct answer from the given options and rewrite the 

statements. (Any 10) 

 

10 

 1.   According to the Heckscher-Ohlin Theory, a country with ________is 

likely to export labor-intensive goods.  

a) Abundant capital                         b) Advanced technology 

c) High consumer demand              d) Abundant labour 

 

 

 2. _______terms of trade measure the ratio of export prices to import 

prices. 

a) Gross Barter                                b) Net barter  

c) Income                                        d) Single Factoral  

 

 

 3. Reciprocal demand is demand by countries for each others ______.  

a) Assets                                           b) Commodities  

c) Labour                                          d) Capital  

 

 

 4. __________ is a benefit of free trade.  

a) Increased consumer choice          b) Protection of infant industries  

c) High revenue to the government d) Monopoly                   

 

 5. _________ is an example of tariff barrier.  

 

a) Export subsidies                            b) Import quota   

c) Custom duites                               d) Import substitution 

 

 

 6. Major consequence of Brexit is ____________.  

a) Britain remained in EU              b) Britain accepted Euro  

c) Britain exited EU                        d) Britain dominated EU 

 

 

 

 

7. 

 

A long run disequilibrium in BOP is also called as__________.  

a) Fundamental disequilibrium        b) Cyclical disequilbrium 

c) Temporary disequilibrium           d) Minor disequilibrium       

       

 

 

 8. Persistent deficit in Balance of Payment shows  ___________.  

a)  Surplus in foreign exchange reserves    

b)  Excessive borrowing form abroad  

c)  High economic growth                                                                                                     

d) High domestic savings  
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 9. Which of the following is a recent development in TRIMS (Trade-

Related Investment Measures)? 

a) Removal of local content requirements    

b) Introduction of new tariffs 

c) Implementation of export subsidies  

d)  Establishment of new trade barriers 

                                                   

 

 10. _________ is is the primary function of the foreign exchange market. 

a) To facilitate international trade and investment 

b) To regulate interest rates                                                     

c) To control inflation 

d)  To manage government budgets           

                                          

 

 11.  If a country's inflation rate is higher than that of another country, its 

currency should_______. 

a) Appreciate                                   b) Remain constant  

c) Fluctuate                                     d) Depreciate  

 

 

 12. India has ___________ exchange rate system.  

a) Flexible                                      b) Fixed  

c) Market                                       d) Managed flexible  

 

 

 B  State whether the following statements are True or False (Any 10) 10 

 1. The Heckscher-Ohlin Theory states that countries export goods that use 

their abundant factors. 

 

 2. Terms of Trade improve when the prices of a country's imports rise 

relative to the prices of its exports. 

 

 3. Offer Curves show quantities of two goods that a country is willing to 

trade at different terms of trade. 

 

 4. Tariff Barriers are quotas, subsidies, and regulations that control 

imports. 

 

 5. Member countries of European Union deal in a common market.   

 6. ASEAN promotes regional peace and stability.   

 7. If exports are greater than imports, there is a deficit on the current 

account of BOP of a country.  

 

 8. Government’s budgetary deficits can cause deficit in BOP.   

 9. The World Trade Organization (WTO) aims at smooth and free trade 

between countries. 

 

 10. Foreign currency is demanded for exports.   

 11. Forward exchange rates are always higher than spot exchange rates.   

 12.  Managed floating systems involve occasional intervention by the 

central bank. 
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************** 

 

 

 

 

 

 

 

 

 

Q.2   Attempt any Two questions from the following.  15 

 A. Explain the Ricardo’s Theory of International Trade.  

 B. Explain the concepts of i) Net Barter Terms of trade ii) Gross Barter and 

iii) Income Terms of trade with their importance and limitations.   

 

 C. Explain J.S. Mill’s Theory of Reciprocal demand.  

 

 

Q.3   Attempt any Two questions from the following. 15 

 A. Discuss the advantages and disadvantages of free trade.  

 B. Analyze different effects of tariffs.   

 C. What are the main objectives and achievements of the European Union.  

 

 

Q.4  Attempt any Two questions from the following. 15  

 A. Discuss the structure of Balance of Payments.  

 B. What are the types of disequilibrium in Balance of Payments.   

 C. Describe the key provisions and recent developments in of the TRIPS 

agreement. 

 

 

Q.5  Attempt any Two questions from the following.  15  

 A. How is the equilibrium rate of exchange determined in the foreign 

exchange market? 

 

 B. Explain Purchasing power Parity Theory of exchange rate 

determination.  

 

 C. Discuss the role of Reserve Bank in foreign exchange management.  

 

 

Q.6   Write short notes on any Four of the following.  20  

 A. Limitations of Modern Theory of International Trade   

 B. Viner’s concepts of Terms of Trade   

 C. Types of Economic integration   

 D. Monetary measures to correct disequilibrium in BOP  

 E. Functions of foreign exchange market   

 F. Spot and forward exchange rates   
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 [वेळ:  तीन तास  ]                           [गुण: १००] 

    सूचना:      
          १ सवव प्रश्न अननवार्व आहेत. 

          २ उजवीकडील आकड ेपूणव गुण दर्ववतात.     

प्रश्न१अ  र्ोग्र् उत्तर ननवडा आणण ववधाने  पुन्हा ललहा.  (कोणतीही दहा)   १०  

 १. हेक्शर-ओहलीन सिद्धांतानुधनरिधर, ________ अिलेल्यध देशधतानु श्रम-आधधररतानु वसतानुतांची 
ननयधातानु होण्यधची शक्यतानुध अधधक अितानुे. 

अ) भधांडवल प्रधधन                                      ब) प्रगतानु तानुांत्रज्ञधन  

क)  उच्च ग्रधहक मधगणी                            ड) श्रम प्रधधन  

 

 २. ______व्यधपधरअटी ननयधातानु ककां मतानुीांच्यध आयधतानु ककां मतानुीांिोबतानुच्यध प्रमधणधतानु मोजल्यध 
जधतानुधतानु. 

अ) एकत ण व्यधपधर                                     ब) ननव्वळ व्यधपधर  

क) उत्पन्न                                               ड) एकल  घटक 

 

 ३.  परसपर मधगणी म्हणजे देशधांची एकमेकधांच्यध ________ िधठी अिलेली मधगणी. 
अ) िांपत्तानुी                                              ब) वसतानुत 
क) श्रम                                                   ड) भधांडवल  

 

  ४. ______ हध मरक्तानु व्यधपधरधचध फधयदध आहे. 

अ) ग्रधहकधांिधठी वधढतानुे पयधाय                     ब) लहधन उद्योगधांचे िांरक्षण  

क) िरकधरलध वधढीव महितल                    ड) मक्तानुेदधरी   

 

 ५.  ________ हे जकधतानुी अडथळ्यधच ेएक उदधहरण आहे.   

अ) ननयधातानु अनरदधने                                  ब) आयधतानु कोटध  
क) िीमधशरल्क (customduty)                   ड) आयधतानु पयधायीकरण  

 

 ६. ब्रेक्क्िटचध मरख्य पररणधम म्हणजे ________. 

अ) ब्रब्रटनने इ.यत. मध्ये रधहहले                    ब) ब्रब्रटनने  यररो सवीकधरले  

क) ब्रब्रटनने  इ.यत. िोडले                           ड) ब्रब्रटनने EU वर वचासव ठेवले  

 

 

 
७.  

 

व्यवहधर शषेधतानुील दीघाकधलीन अिांतानुरलनधलध ________ अिेही म्हणतानुधतानु. 

अ) मतलभततानु अिांतानुरलन                             ब) चक्रधकर  अिांतानुरलन  

क) तानुधत्पररतानु ेअिांतानुरलन                            ड) ककरकोळ अिांतानुरलन  

 

 

 ८. व्यवहधर शषेधतानुील िधतानुत्यपतणा  तानुतट ________ दशावतानुे. 
अ) परकीय चलन िधठ्यधतानुील अधधक्य      ब) अनतानुररक्तानु परकीय कजे  

क) उच्च आधथाक वदृ्ी                               ड) उच्च घरगरतानुी बचतानु  
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 ९. परढील पैकी कोणतानुे  व्यधपधर-िांबांधधतानु गरांतानुवणतक उपयधांमधील मधील (TRIMS)अलीकडील 

घडधमोडीच ेउदधहरण आहे? 

अ) सथधननक िधमग्री आवश्यकतानुध हटवणे    ब) नवीन  जकधतानुी आणणे  

क) ननयधातानु अनरदधन अांमलबजधवणी             ड) नवीन व्यधपधर अडथळ्यधांची ननसमातानुी  

 

 १०.   परकीय चलन बधजधरधचे प्रधथसमक कधया म्हणजे ________. 

अ)  आांतानुररधष्ट्रीय व्यधपधर आणण गरांतानुवणतक िरलभ करणे                                                     

ब) व्यधज दर ननयांब्रत्रतानु करणे  

क) चलनवधढ ननयांब्रत्रतानु करणे                                                      

ड) िरकधरच्यध  तानुधळेबांदधचे व्यवसथधपन करणे  

 

 ११. जर एकध देशधचध चलनवधढ दर दरिऱ्यध देशधच्यध चलनवधढ दरधपेक्षध जधसतानु अिेल तानुर  चलन 

________ िधले  पधहहजे. 
अ) मतल्यवधान                                        ब) क्सथर  

क) अक्सथर                                            ड) अवमतल्यन 

 

 १२. भधरतानुधतानु ________ ववननमय दर प्रणधली आहे. 

अ) लवधचक                                           ब) क्सथर  

क) बधजधर आधधररतानु                                ड) ननयांब्रत्रतानु लवधचक  

 

  ब खालील ववधाने  बरोबर की  चकू ते  आहेत त े साांगा. (कोणतीही दहा)   १० 

 १. हेक्शर-ओहलीन सिद्धांतानुधनरिधर, देश अशध वसतानुतांची ननयधातानु करतानुधतानु ज्यधिधठी मोठ्यध 
प्रमधणधतानु उपलब्ध  अिलेले घटक वधपरले जधतानुधतानु.   

 

 २. देशधच्यध  आयधतानु ककां मतानुीांशी तानुरलनध करतानुध ननयधातानु ककां मतानुी वधढतानुधतानु तानुेव्हध व्यधपधरधच्यध 
अटीांमध्ये िरधधरणध होतानु.े   

 

 ३. प्रसतानुधव  वक्र वेगवेगळ्यध व्यधपधरधच्यध अटीांनरिधर  देश ज्यध  दोन वसतानुतांचध व्यधपधर करण्यधि 

तानुयधर अितानुधतानु त्यधच ेप्रमधण दशावतानुधतानु. 

 

 ४.  जकधतानु अडथळे म्हणज ेकोटध, अनरदधने, आणण आयधतानु ननयांब्रत्रतानु करणधरे ननयम होतानु.  

 ५.  यररोवपयन यरननयनमधील िदसय देश िधमधईक  बधजधरपेठेतानु  व्यवहधर करतानुधतानु.  

 ६. ASEAN प्रधदेसशक शधांतानुतानुध आणण क्सथरतानुेलध प्रोत्िधहन देतानुे.  

 ७. जर ननयधातानु आयधतानुीपेक्षध जधसतानु अिेल, तानुर देशधच्यध चधलत खधत्यधतानु तानुतट अितानुे .  

 ८. िरकधरच्यध अांदधजपत्रकधतानुील तानुतट  व्यवहधर शषेधमध्ये  मध्ये तानुतट ननमधाण करू शकतानुे.   

 ९. जधगनतानुक व्यधपधर िांघटनध (WTO) देशधांमधील  िररळीतानु  आणण मरक्तानु व्यधपधरधलध 
प्रोत्िधहन देतानुे. 

 

 १०. परकीय चलनधची मधगणी ननयधातानुीिधठी केली जधतानुे.  

 ११. भववष्ट्यकधलीन  ववननमय दर नेहमी चधलत  ववननमय दरधपेक्षध जधसतानु अितानुो.   

 १२. ननयांब्रत्रतानु लवधचक  प्रणधलीमध्ये मध्यवतानुी बँकेद्वधरे प्रिांगधनररूप हसतानुक्षेप िमधववष्ट्ट अितानुो. 
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प्रश्न २.  खालीलपैकी कोणत्र्ाही दोन प्रश्नाांची उत्तरे ललहा .  १५ 

 अ. ररकधडो यधांचध  आांतानुररधष्ट्रीय व्यधपधरधचध  सिद्धांतानु सपष्ट्ट करध.  

 ब. ननव्वळ व्यधपधर अटी , एकत ण व्यधपधर अटी आणण उत्पन्न व्यधपधर अटी  यध िांकल्पनध 
आणण त्यधांच ेमहत्त्व व मयधादध सपष्ट्ट करध. 

 

 क.  जे. एि.समल यधांचध  परसपर मधगणी सिद्धांतानु सपष्ट्ट करध.  

प्रश्न३.  खालीलपैकी कोणत्र्ाही दोन प्रश्नाांची उत्तरे ललहा .  १५ 

 अ. मरक्तानु व्यधपधरधचे फधयदे आणण तानुोटे सपष्ट्ट करध.  

 ब. जकधतानुीांच्यध  ववववध पररणधमधांचे ववश्लेषण करध.  

 क. यररोवपयन यरननयनची  मरख्य उहिष्ट्टे आणण उपलब्धी सपष्ट्ट करध.  

प्रश्न.४  खालीलपैकी कोणत्र्ाही दोन प्रश्नाांची उत्तरे ललहा .  १५ 

 अ. व्यवहधरशषेधची रचनध सपष्ट्ट करध.  

 ब. व्यवहधरशषेध मधीलअिांतानुरलनधच ेप्रकधर सपष्ट्ट करध.  

 क. व्यधपधर िांबांधी बौवद्क िांपदध   करधरधतानुील (TRIPS) प्रमरख तानुरतानुरदी आणण अलीकडील 

घडधमोडी  सपष्ट्ट करध. 
 

प्रश्न ५.  खालीलपैकी कोणत्र्ाही दोन प्रश्नाांची उत्तरे ललहा .  १५ 

 अ. परकीय चलन बधजधरधमध्ये िमतानुोल  ववननमय दर किध ठरववलध जधतानुो?  

 ब. ववननमय दर ननक्श्चतानुीचध  खरेदी शक्तानुी िमत्व सिद्धांतानु सपष्ट्ट करध.  

 क.  परकीय चलन व्यवसथधपनधतानु ररिव्हा बँकेची भतसमकध सपष्ट्ट करध.  

प्रश्न .६  खालीलपैकी कोणत्र्ाही दोन प्रश्नाांची उत्तरे ललहा .   २०  

 अ.  आांतानुररधष्ट्रीय व्यधपधरधच्यध  आधरननक  सिद्धांतानुधच्यध मयधादध  

 ब. वधयनर यधांच्यध व्यधपधरधच्यध अटीांची िांकल्पनध  

 क. आधथाक एकत्रीकरणधचे प्रकधर  

 ड. व्यवहधर शषे  मधील तानुतट  दररुसतानु करण्यधिधठी केल्यध  जधणध-यध आधथाक उपधययोजनध  

 इ.  परकीय चलन बधजधरधचे कधया  

 फ.  चधलत  आणण भववष्ट्य कधलीन  ववननमय दर 

 

 

************* 
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